1.

1 _
a:—l%lmﬂ,5+2a94%k% Sholet.



M 20 £ 3P D+ 32°F Otk A1M 40°C £ 3P 22
217 Fafolet.

B e °F



3.

2
abe °| gh& F-oH?

O -12 @ -6 ® = @ 3 ® 6

x = = -
-y 43 x A AFEa y? A ATED, FrFEcHL



H7]
QO -2xx O -2+x
® (-1)x2xx ® -1+2+x

D EE




O <H27]> oA F54e BF A=Y
[17]

@ 3x+2=2x+3 2(x+3) =6+ 2x

® 2x+3x+4=5x+4 3(x-1)=3x-1

60,6 206 006 ®6e 00,6



6.

p=1
[€)

Al

ax+2 = 3x+b 7t FAN7] At a, b O] G227

A]
1

@a:2,b:§ @ a=3b=2
1

@a:2,b:§ ®a=2b=1



2x +4 =10-4x

@ 2x-4x=10+4

® 2x+4x=10-4

@ 2x+4x=-10-4

@ 2x+4x=10+4

® 2x-4x=10-4



the 3 AR Aol obd 2

o

BT 2H?
® ala+3)=2+3a @ 2x(x+3)=2x2-3

® 4x-4=3x-4 @ 3(5-2x) =2(3x-5)
2(x+2)  5+4x
@ 3 6




9. ol o4 AclH 20— 18 Wobgt 218 ZEo] S 5y -3
o] Tt} vt A A4t Ale 129

® —x-1 @ -x+1 ® x+1
@ x-1 ® x



10. o] Aol dx-3 -2 wolok & A HHHY x+6 o] Hglek. o,

AR



